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A, B, C, D, E, 5 g9 s¥o] l5Uth A 7F ¥ groll M= 492
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@ 30° @ 32° @ 34° @36° ® 38°

B

AABD 7} o] 5HAZIEo|BH R /A = /ABD = x° 0|1
/BDC = /x+ /x = 2/x

ESt ABCD & o|5H4AZHS o2 2 /BDC = /BCD = 2/x
AABC 7} AB = AC ¢l o]z ol nz

/ABC = /ACB = /BCD = 2/x

o2hA AABC 9] WZHe] 9t o]-§-5td

/x4 2/x + 2/x = 180°

oo Lx = 36°
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Aax449 ABC oA AMH A
AC = AD, ABLDE o]t} semp N
AB = 13cm, BC = 12cm, AC = 5cm /’ /?Cm
o of, 4+7+y BED ¢ E¢2 Zo] B ~ pem B C
=7

@ 12cm @ 13cm ® 14cm @ 18cm (@)ZOcm

B ~

AACE = AADE(RHS 3H5) 0|22

DE =EC, AD=AC ..BD=8m

ABDE |4 DE + BE = EC + BE = BC = 12cm °|2&
ABDE 9] 99| Zo]=8+12 = 20(cm)
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12. TR 23 o] A2zt ABC ) 9l4do] 1 09 1), AB + AC —

12cm o™ ZABC 9] 327]&%?
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\
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0 4cm
/l
B C
@ 10° @ 20° (3)30°
@ 40° © &= 9o

~&B

OA + OB+ AC = 12cm©]XL

OA =0B =0C°]|E2 OA = OC = AC = 4cm |},
m2tA AAOC+= A2 golB= L/OAC =60°

. /ABC =30°
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o] Aalo] 1 o] & o] A9e] 4 3x2 =6 (714])
o] Aalo] 2 7} & we] A9-0] 4 3x2 = 6 (714])
uje] alo] 3 o] & we] F9-0] 4= 3x2 = 6 (714])
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15. o3 214 € 0% aABC S WA o]y, GH, TJ, LKE= ¢ 0°]
A3t olufl, AT B AAGH + ABLJ 4+ aCKL 9] £ 9] Zol&
Tt ?

® 35cm @36@11 ® 37cm @ 38cm ® 39cm

~&B ~

BD = x,AE = y,CF = z&t2 3} x+y = 10, y + z = 12,
74+ x = 144

x+y=z=18

AE =18 - 14 = 4, AAGH 9] E8|9] Zo]= 2x AE = 8°|th,

BD =18 -12 = 6, aAB1J 2] E&|9] o] 2xBD = 12°|t}.

CF =18 -10 = 8, ACKL 2] Ed]2] Zo]+& 2 x CF = 16°]t}.
.. AMAGH + ABIJ + ACKL = 8 + 12 + 16 = 36( cm)




